Model Question Paper

Class-XII (Session : 2020-21)(Qe<3uhoo1)
Subject-Economics

(Hindi and English Version)
Time Allowed : 3 hrs Maximum Marks : 85
Teeft FerEYe S v A € IS | :
Candidates are required to Answer in their own words as far as practiable.
YUY & 37 SEch 9 & T
Marks allotted to each question are indicated against it.
fergre fd:-
Special Instruction:
() ST IR-YRH & GBI I8 & TR 9% % KT ™ a9 § qe1-7
st sferea fora |
You must write the question papers series in the circle at the top left
side of the title page of your answer book.
(i) T ST XA TS S T FEA YA-TF R IR T ¢, STR-YFeh
R wed He fo st ¥
While answering your questions, you must indicate on your answer-
book. The same question number as appears in your question-paper.
(iii) TR gieaent & = | @relt g9 7 Sifgn |
Do not leave blank page/pages in your answer book.
(iv) Tt 9o Srfard # 1
All the question are compulsory.
(V) TS YA o 9l 9T ol ST Uk B R W |
All parts of each question shou]fi be attempted at one place.




(vi) Covid-19 HeM{ =l &A1Y Wad U 99 2020-2021 & ford sAfaftaa
30% dehieash T SIS ML 2 |
30% optional questions have been added in the session 2020-2021as
Per guidelines due to Covid-19

UNT-37 (Part-A)
1. (@) “Principles of Economics” frama feraq fot &2 1
(1) wen fmy (%) wriE
(|) fepret (%) i
Who wrote the book “Principles of Economics™?
(a) Adamsmith (b) Marshall
(¢) Ricardo (d) Pigou
(i) FHT STERTA SAfeRaH Bt § 9 SH ST .. LGil
71 1
(3= (&) =ATH®
(|) HomeH () Bl sFam
Total Utility is maximum when marginal utility is ............. .
(a) Zero (b). Positive
(c) Negative (d) BothAandB
(i) STrET IR R 71 g3 @ A T s 2
()AP=QxP () AP:E_P
(¥) AP=TP_-TP__ (2) AP=TP_-TP,
Average product is calculated with following formula.
(a) AP=QxP ®) AP=T

) AP=TP —TP (d AP=TP_ TP




(iv) =t o R e €2 1
What is fixed cost?

(V) T %] <1 ST |
Write the example of substitute Goods.

. oTifefen Ten | R0 stfvu §2 9% =1 Soa gt @2 3
What is meant by economic problem? Why does it arise?

. YN Heqer hl AIE I g HifSw | 3
Explain the assumptions relating to consumer's equilibrium.

HAAT/Or

AT G 1 SfwE §2 W R 9IEd A Al A qel g
ST | 3
What is meant by demand? Explain the three factors of affecting de-
mand.

. = ¥ fawar el A # gfis w1 owr v W 3
Distinguish between extension in demand and increase indemand.

. Fed wfawe % o % @] §19 % 1 R 87 3

What are the causes of implementation of the law of diminishing re-
turns to a factor?

3{AAT/Or
WY & awa 3 99 & gfawa § ST T ity | 3
Distinguish between returns to a factor and returns to scale.
. 1= aiferert =61 90 i 3

THT



1 20 e
2 32 = =
3 36 = =
4 32 = =

Complete the following table:-
Units of Production Total Revenue & Marginal revenue ¥ Average revenue I

1 20 -

2 R -

3 36 -

4 2

YA/ Or
FA AT qAT HHG AT H T T § 7 3
Explain the relationship between Total Cost (TC) and Marginal Cost
(MC)
. T arfee & @i =5t Sivd e 9 S 4

Find the price elasticity of demand from the following table:-
HAA A IHRIE AT Ui gahTg ( TehoTmo )
[Price per unit ()] [Quantity per unit (kg)]

8 100
10 80
. Hge FHd ¥ 39 = g9Ed 82 ol afadifie R § Sy s
& frufo =1 = Fifs) 4

What do you understand by equilibrium price? Explain the price deter-
mination under the perfect competition.
10




10.

11

12.

YA/ Or
fordt arsg =1 aeR gfd o =R fruie 9@l % avE w1 4

Explain four determinant elements of market supply.

. THIFR T Fgd &2 SHh! U= fogroaredi =1 =9 ifsie) 5

What is Monopoly? Explain its any five features.
T st HIFd A T 10 e = fafy’ s eare st 5
Explain the ‘Total Expenditure method’ to measure the price Elasticity
of demand.
Hed-9gd STIUM o 1aH i Hies SR Sife | . 5
Explain the law of variable proportions with the help of diagram.
YAT/Or
() 3rEa T o5k U SR o1 941 eral €72 25
Why is the average Cost curve U shaped?
(i) T SAfTEwen i T F4d THEART i TRA FHifS@I 25
Explain two central problems of an economy.
-9 (Part-B)
(i) TefTerEen I S 9 I fHEH e o | 1
(37) wen Ty (1) =
() TR T (%) IS &
Who has divided the study of Economics in two part
(a) Adam smith (b) Marshall
(c) Ragner Frish (d) None of these
(i) TR TSI T T ............. Ak n1 S Gk 1

(31) Tre fivwm (9) S THFS

(9 Heud I (%) dRL




13.

14.

(i) Fret 3 & S o Fefe ¥ et 3w T e

gl 1
(1) Tog ASIgY qAT ATH () FFEFwud o
(4) HerA (7) ==
Which of the following income is not included in the compensation
of employees
(a) Wages and Salary (b) PaymentinKind
(c) Pension (d) Interest

(iv) 9Ra H RBI &l &9 %l §57 1
(1) 1905 (&) 1925
(4) 1935 (X) 1949
In which year was the RBI established?
(a) 1905 (b) 1925
(c) 1935 (d) 1949

(v) STTAE. = Fa HHE 0?2 1
What is the full form of GST?

IfE T =d Tafa (MPS) &1 56 0.4 T T Uk 6l God 41 B2 2
‘What will be the value of multiplier if the value of MPS (Marginal pro-
pensity to save = 0.4

et fafrTa 2T yomelt ® §? 59 Wmelt % oy aen sl
AT RIS | 3
What is flexible exchange rate system? State the merits and demerits of
this system.

AT/ Or
TR TEE 3T T T 3T § <R =] | 1

Explain the difference between domestic factor Income and national income.
12




15

16.

17.

18.

ST & SR WATE i STEURON Fit foa wfed =aren Fifsm) 3
Explain the concept of Real flow of income with the help of diagram.

{UAT/Or
it frew oiv w=nfeaa frem o s aasu )
Difference between induced investment and autonomous Investment.
o fafm= gomedt =6t sfcAsal 1 goi o | 3
Explain the difficulties of Barter exchange system.
3{Udr/Or
() <l Mo F e AT ¥ 2 30 TS W S o= ST Fehdl €23
What is the meant by double counting problem? How we can
solve double counting problem?
frfeiad siiee & STHR W |IET T W YE 7 318 (NDP,)

0 RIS | 3
ug =
1. SR HIFd T TH W] SR 800
2. TowmEE =9 90
3. AT R 120
4. oTfeer weTar 30
SSIe % T 3T A1 qUA FITOT | 4
Explain the main objectives of the budget.
AYAT/Or
YT Fafa | e sty §7 sitea 39+ wgfa o) fam wfed =aren
ST | 4

What do you mean by propensity to consume? Explain the average
13




19.

20.

21.

27,

propensity to consume with the help of diagram.

HgT fohdl Fgd €7 90 =R FE! 19U Hifey | 4
What is Money? Explain its Four functions.
RE S FFY Fed T2 39 HE! 1 GuF SIS g

What is Commercial Bank? Explain its functions.

TG 374 1 7+ &1 =99 fafy f7d +ed €2 =09 fafy g udig
T BT |19 HQ R s €1 5
What is Expenditure method to measure National income. Explain the
Expenditure method to measure the national Income.

TerERTH Hifd ford sed 87 TSN Fifq 3 Sl w1 oo ST 15
What is Fiscal Policy? Explain the instruments of fiscal policy.

AAAT/Or
() P qA YaE § IR ST | 2%
Difference between Stock and Flow.

(i) ettt qen wiqE YRR wEd §7 2%

What is Progressive and Regressive tax?

14
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